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T2 N
T MAZE S41 (IPC : inter-process
communication)
= Signal
" Pipe
= FIFO
= 14 IPC 7| H
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" Ctrl+c
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6.1.2 MAIM =Z 9 HIHAIM =32
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" sigset_t1l}
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= SIG_DFL
= SIG_IGN
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. sigaction
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62 Al Xzl (2)

6.22 Al1Y dis X|™E : sigaction (A=)
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1: SIGINT A

2: SIGINT 2A|
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6.2.4 sigsetmp2} siglongjmp
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j 6.3 A|12 =2f(blocking)

sigprocmask .
" SIG_SETMASK
" SIG_UNBLOCK
" SIG_BLOCK
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6.4.1 CIE EZZ2 N A0A ELHZ| : kill
= kille] pid 2l
6.4.2 XtAMO|AH AlAE ELH7| : raisel} alarm
" raise
= alarm
78
17|
= aglarm 0O
6.4.3 pause A|AH S =
= Qoo A|OE0| = WTHK| = FX|
= tml O
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= 0N =202 A = A4F 2l(ERet % main() &)
= 620 1[50H]
= 6.2 0] 2 [50H]
= 6.2 0 3[50H]
= 6.24 0 [504]
= 6.3 0 [50&]
= 64 0 [50&]
= 642 0 [50M]
= tml 0| [100H]
T2 A 7F A2 H2| [S00R]
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